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il = AM450W AM750W TSP-170
A = h = TROYIZF L 7ROLIZT L EmEHRTYE
+ 2 W mm 1,800 2,000 1,800
- £&L (A) mm 3,200 (317) 3,800 (317) 3,200
! =&H mm 2,250 2,524 2,200
SRR X 1E R E m? 2.8 4.2 28
27F—JVHEHEE ke 3,000 4,000 5,000
2 = kg 2,400 2,900 2,350
bl E= AHM-2-350S AHM-2-450S TM-350
g & B 2 450%2 750%2 450% 2
IxHY— BB ARE 2 350X 2 500%2 350%2
F11R [ %= £t rpm 410 420 —
EHE—5%— kw 11 X4p 7.5X6p 7.5X4p
il =x KBAB5N/MH-7KL KBAB5N/MH-7KL TS-170
L H oH B £ /min 180 180 180
g7
Hoo B E 7 MPa (ke/cm?) 0.7 (7) 0.7 (7) 20
15 = A 2 5 A 38 ~ 65 38 ~ 65 40
BEE— 52— kW 7.5%X4p 7.5%X4p 5.5X4p
il =x BT751T BT751T BT400T
B|oK " oH B £ /min 210 210 140
Ko7 5 2 m 10 10 7
BEE— 52— kW 0.75 0.75 0.4
= B B E # KVA 45 45 45
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il = YM-1000T
EW mm 2,250
] W J JlgsL©  mm 4,000 (130)
: ! SRt maH mm 1,770
K B B 2 m 35
S £ kg 2,160
Ll = MTO 1000
& kS 2 2 1,300%2
IxY— H OB R B ¢ 1,000% 2
¥R B & FH orpm 125
EEE— 2 — kW 55%2&
nt H £ £/min 500
WBAkRLT | B 2 m 8
EHE— % — kW 1.5
Ll = KTV 2-8
s nt H £ 2/min 180
] F m 10
BEHE— % — kW 0.75
A = MM 201
550 ke nt H £ £/min 200
KT it H E A MPa(kg/cm?) 2.45 (25)
BEHE -2 — kW 7.5%4p
=S £ kg 310
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=] ] % YMG-500
| o+ EW mm 1,800
R & LL) (L") mm* 3,650 (4,000) (4,450)
2t | P | ExH mm 2,150
XK B B 2 m 25
. =S £ kg 2,200
% —1 il B MTO-500
’ @ B " E L 670
L " ] x4 B B R E L 500
! PR E & H rpm 104
BEE—%2— kW 515)
A o MS-007
e 7 E ¢ 790
. TIOTFT—- NRE & 700
7IToE iR B & EH rpm 10
B oH O & 50AX2
EHE-—X2— kW 04
nt H £ £/min 500
FakR T > e 8
TEE— % — kW 1.5
Eil . KTV 2-8
T ﬂi H i; £ /min 180
] = m 10
TEE— &% — kW 0.75
A B MM 201
55wk nt sl £ £/min 200
2o E H E 51 MPa(kg/cm?) 2.45 (25)
BEEE— 42— kW 7.5%X4p
ES £ kg 310
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